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§3.10 Mean Value Theorem — Student Notes

MEAN VALUE THEOREM: If a function is continuous on [a, b] and differentiable on (a, b), then there is
as number c in the interval (a, b) such that
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1. Use the graph to illustrate the Mean Value Theorem with a continuous and
differentiable function. Show f(x), a, b, ¢ and all other conditions of the theorem.
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2. Find the number c that satisfies the Mean Value Theorem (MVT) for f (x) = i
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3. Why does the MVT not apply?
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4. Apply the MVT, if possible. If not possible explain why.
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MVT Problems
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1. The function f(x)= x> on[ - 8, 8] does not satisfy the conditions of the Mean Value L) s rhinosys
Theorem because oN E" 8) & :
A. f(0) is not defined B. f(x) is not continuous of [ -8, 8] \O = ,cbq S not
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2003 #92: Let f be defined by f (x)=x +1In (x) . What is the value of ¢ for which the instantaneous rate of

change of f at x = c is the same as the average rate of change of f over [1, 4] ?
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